Write your answer in the space below:

ANSWER SHEET

143x2=

Write your answer in the space below:

1057

286

54+0.2=

Write your answer in the space below:

35x4=

Write your answer in the space below:

5.6

140

1,365 + 492 =

Write your answer in the space below:

a56+7=

Write your answer in the space below:

1857

'

Write your answer in the space below:

a 46 +0.07 =

Write your answer in the space below:

346

4.67
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a3x6x8=

Write your answer in the space below:

720+8=

Write your answer in the space below:

144

90

Z_E_
9 9

Write your answer in the space below:

Vv 419

3.59 x 100 =

Write your answer in the space below:

Write your answer in the space below:

359

36

60,000 - 600 =

Write your answer in the space below:

1,000 x 100 =

Write your answer in the space below:

59400

100000
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1,210 + 11 =

Write your answer in the space below:

ANSWER SHEET

30% of 2,300 =

Write your answer in the space below:

110|

690

1.73x4=

Write your answer in the space below:

pl0) 6,428 + 9,173 =

Write your answer in the space below:

6.92

15601

%+é_
7T 7

Write your answer in the space below:

v 6/7

34146

Write your answer in the space below:

14 -8.04 =

Write your answer in the space below:

569

5.96
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Complete the calculation below. 173-7.77 =
Write your answer in the space Write your answer in the space below:
below:
X 2 3
pAsy Complete the calculation below. PYA 85% of 320 =
Write your answer in the space Write your answer in the space below:
1/5[8]5. 95 below:

-

573 272

g
3 9

Write your answer in the space below:

v’ 1727

418,653 - 78,294 = Complete the calculation below.

Write your answer in the space below: Write your answer in the space

o |8
6

below:

~ | W

340359 39061
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1
gfe] 19x2— =
' %

Write your answer in the space below:

ANSWER SHEET

47.5

32—6x3=

Write your answer in the space below:

Complete the calculation below.

4313|109

14

Write your answer in the space
below:

72

Write your answer in the space below:

v 2/5

1 1
33 P
Q-

Write your answer in the space below:

v/ 129/30
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Tick ONE box next to the correct answer

D1

16 EA
LT4e

Write your answer in the space below:

Vv 3/16
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